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FYIT 7371 F1 ATIEF 95T |

T8 Fo7-T7 @14 GUel § [F9Tford &, 379Iq @UE &, @IS & 37K GUg T |
GUS F- 5 bl BT & AN 37 TSTIR HIVIT W6 I97 & |/

(F) ¥97 G&IT1 T 4 TF Uk 3% & Y97 & | 18] a7 Fo71 & I T |
(G) 97 G&IT5 3K 6 T 3Pl & I97 8 | 547 Uk J97 &7 IR G19q /
GUE G- 17 3% 71 8 37 3494 1[99 17 F197c7 7 16 F97 & |

(F) ¥97 G&IT7 @ 13 7% U 376 & Jo7 & | 18] qier F971 & I I |
(T) ¥97 G&I7 14 & 18 TF T 3H] & J97 & | I8 i 3941 & I Afaw |
() 997 GEa7 19 @ 22 7% @7 3% & J97 & | 87 g yo] & I &7 |
QUG T 8 37H] BT & 37N 395 3 T1ar-Smeiia 394 & |

Y97 G&IT 28 T 25 T °R 3P & I57 8 | 81 g yo41 & I/ e |
e GUsl 4 1T 7T 4591 @ AR HIfrg |

SFRT b HT 35T J9F GUS/ Y97 & GIH7 1697 7T & |

WUE ®

(TSR Hivrer ) (3+2=5 31)
13T 77 4 3591 F @ [h571 3 oI @ IR 9T | 3x1=3
1. Tl @ sTadafme wiwet & am fafee | 1
2.  3IushyYl (SHffed) ot gftarfya shifse | 1
3.  ILO =1 qu ™ faRam | 1
4.  ‘“qFTawor TUEET Weg W Y FAT FHA 7 2 1
13T 77 2 3991 § @ [ 1 397 &7 IT JiT | 1x2=2
5. AGEN (THE) AR Frigmar (THEH) s aussn | 2
6. ‘Soary uitEdHi o IHTEl o Jfd 3TRe o 1 aTedd | 2 2
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General Instructions :

(i) Please read the instructions carefully.
(it)  This question paper is divided into three sections, viz., Section A,
Section B and Section C.
(iti) Section A is of 5 marks and has 6 questions on Employability Skills.
(a)  Questions number 1 to 4 are one mark questions. Attempt any
three questions.
(b)  Questions number 5 and 6 are two marks questions. Attempt any
one question.
(iv) Section B is of 17 marks and has 16 questions on Subject Specific Skills.
(a)  Questions number 7 to 13 are one mark questions. Attempt any
five questions.
(b)  Questions number 14 to 18 are two marks questions. Attempt any
three questions.
(c) Questions number 19 to 22 are three marks questions. Attempt any
two questions.
(v)  Section C is of 8 marks and has 3 Competency-Based Questions.
Questions number 23 to 25 are four marks questions. Attempt any
two questions.
(vi) Do as per the instructions given in the respective sections.
(vii) Marks allotted are mentioned against each section/question.
SECTION A
(Employability Skills) (3+2=5 marks)
Answer any 8 questions out of the given 4 questions. 3x1=3
1. Write about any two interpersonal skills you know. 1
2. Define Initiative. 1
3.  Write the full form of ILO. 1
4. What do you understand by the term ‘environment quality’ ? 1
Answer any 1 question out of the given 2 questions. I1x2=2
5. Explain perseverance and efficiency. 2
6. What do you mean by ‘adapting to the effects of climate changes’ ? 2
326 Page 3 P.T.O.




Qs 9

(oo farfere =iorer) (5+6+6=17 37F)
12T 7 7 3771 H & 18] 5 FoI & It GIQ | 5x1=5

7.  Torelt o STfese % HEEl dh UgEH W (0T YR foRy S e STTRE
W Al | 1
8. TGl U SIET ST hi H 3TaTE T 2 | 1
9. JVM w3 ! U feifen | 1
10. fafy (Bue) ®=n g 2 1
11.  Se1 $a o fhaq fifafea a1 ez & foiw wgres g & 2 1
12. &1 | e JRUSa S AR 1 7 2 1
13. (A H ™ BaeHe &1 39 fofEu | 1
137 77 5 3771 4 & [5751 3 I91 & I G | 3x2=6
14. F=afafea g #ie oo yor = 8 - 2

(%) System.out.print("Hello World");
(@)

d) System.out.println("Hello World");

15. f=faRad e § mafaat i vg=m ifSe ik 98 =i fafeu - 2

public class IFDemo {

public static void main (String|[ ] args) {

int percentage = 55;

String day =" ";

if percentage >= 40)
System.out.println("PASSED"); }

else :

{ System.out.Printline("FAILED"); }
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7.

8.

9.

10.

11.

12.

13.

14.

15.

326

SECTION B
(Subject Specific Skills) (5+6+6=17 marks)
Answer any 5 questions out of the given 7 questions. 5x1=5
Write the operator used to access members of a class object. 1
Java compiler translates the Java program into 1
Expand the term JVM. 1
What is a method ? 1
How many primitive data types does Java support in all ? 1
What is the size of a Boolean variable in Java ? 1
Write the use of database management in Railways. 1
Answer any 3 questions out of the given 5 questions. 3IxX2=6
How do the following two codes differ : 2
(a)  System.out.print("Hello World");
(b)  System.out.println("Hello World");
Identify the errors in the following code and write the corrected code : 2
public class IFDemo {
public static void main (String|[ ] args) {
int percentage = 55;
String day =" ";
if percentage >= 40)
System.out.println("PASSED"); }
else :
{ System.out.Printline("FAILED"); }
Page 5 P.T.O.




16. Wie R fem o1 2y # 7w Tuse hifre | 2
17. a1 4 s Tty faflgn s @ wemett o dufier & 9 4 Wier Hidl 3 3N
TS AT I et 8 | 2
18. TfciRad g &l @] (FSIEH) i T b &1 eI F1 &M ? hig H TEHTA
g a1 AlfoTohed TR bl ggae ot HifST 2
int b=20;
if (b>10) &&(b<15)
b=15;
else
b=10;
13T 10 4 3991 § @ 81 2 o1 & I a7 | 2x3=6

19. f=afafaa it (class) W o= ShifST

public class Stud {
String Rno;
String Sname;
String Addrss;
double marks;
void display()
{ System.out.println("Rno : " +Rno);
System.out.println("Student name : " +Sname);
System.out.println("Addrss : " +Addrss);
System.out.println("Marks : " +marks); }
I
STh FATH h Teh hEgFel o HHI & foTu HaTe fifgw AT oelmd & a1 ag&
I YR L Teh | 3
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16. Differentiate between Short and String data type. 2

17. Write a method in Java that accepts two numbers as parameters and

returns the greater number. 2

18. What will be the value of b after the execution of the following code ? Also,
identify the logical operator being used in the code : 2

int b=20;
if (b>10) &&(b<15)
b=15;
else
b=10;

Answer any 2 questions out of the given 4 questions. 2x3=6

19. Consider the following class :

public class Stud {

String Rno;

String Sname;

String Addrss;

double marks;

void display()

{ System.out.println("Rno : " +Rno);
System.out.println("Student name : " +Sname);
System.out.println("Addrss : " +Addrss);
System.out.println("Marks : " +marks); }

%

Write a command to create a constructor of the above class that initializes
the data members of a class. 3
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20. (%) 39 Yohat w1 AW foifgw St Ser # W 2H H IR § 3YE o & o
U fokat SITaT R |

(@) Fafafea g swomett w o il 3t 390 7@ wuse K . 3

int a = 50;

Integer b = new Integer(50);

21. YUgHAl H &S & 3NEd i {2 v o fu Sirenm # we g fafgu | 3

22. (%) <ET dg@ H wait() Tafer o1 wmEmET |
(@) SmaT # setPriority() fafyr = owemsy ofR WAl waw 6 9 o

AT | 3
Qus T
(FTraT-SaTiE 99 ) (2x4=8 37)
1ou 70 8 I991 5 & fh=67 2 Fo1 & I T | 2x4=8

23. @1 # UH fafyr foafae S qEr @ s g S Wit o 9 ° wWieR Sl 8
3R fe AT T a7 3@ feam # old’ 27e 1 it & 1 =& | 4

24, fafafea fegn afusa w famm hifse .
String str1="Hello";

String str2= "morning";

ST § ffaRaa & forw wie weene fofau .
(%) feomr aftwad ‘str1” o 98t 3781 (letter) 1 3TITHE | T |
(@) & strl 3R str2 1 GIF (FA) ATS I GG HET |

(T[) str1 ® tl‘g!ﬁ AP ‘@ YUH YIfed (first occurrence) hl S@W aﬂ
e T |

(F)  strl 3R str2 sl AW % 918 TSR HET | 4
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20. (a) Name the package to be imported in Java to take input from the

user at run time.

(b)  Consider the following two declarations and differentiate between
them : 3

int a = 50;
Integer b = new Integer(50);

21. Write a program in Java to print the average of the first ten numbers. 3

22. (a) Explain wait() method in Java threads.

(b)  Explain setPriority() method in Java and give the range of priority

levels. 3
SECTION C
(Competency-Based Questions) (2x4=8 marks)
Answer any 2 questions out of the given 3 questions. 2x4=8

23. Write the method in Java to accept a string as parameter from the user
and print whether string contains the characters ‘old’ or not. 4

24. Consider the following string variable :

String str1="Hello";

String str2= "morning";

Write the code statements in Java :

(a)  To convert the first letter of a string variable ‘strl’ into uppercase.
(b)  To display combined length of string strl and str2.

(c) To display the index value of the first occurrence of letter ‘e’ in strl.

(d) To display strl and str2 after joining them. 4
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9N (telecommunication) H See@ Jaed <hl éidocf“ldlq EZSER N
e & ?

s TS hUAl 3T ISHI 3R WIF o & &1 &l & | &h
39 | i % : Emp_id, Emp_name, Emp_dob, E_sal. %TsZ FC|
1 faeqa forewor 38 @hHT (schema) Hfgd dNT |
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2

s

25. (a) How are database management concepts helpful in
Telecommunications ?

(b) An Airlines company is making a database of its flights and staff.
The staff table includes : Emp_id, Emp_name, Emp_dob, E_sal. Give
the details of Flight table with its schema.
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